- EFEDORLESIEH 10-1 -
EFEEOELESIEE 10-1

ROFEZ LIg S0,

(1) (+1) + (+8) = (2) (+9) + (+6) =

(3) (+3) + (+4) = (4) (+1) + (+9) =

(5) (+58) + (4+29) = (6) (+7) + (+50) =

(7) (+31) + (+23) = (8) (+51) + (+58) =
(9) (+209) 4 (+620) = (10) (+354) 4 (+110) =
(11) (+716) + (+819) = (12) (+967) + (+857) =
(13) (+0.9) + (+1.5) = (14) (+0.02) + (4+0.14) =
(15) (+9.9) + (+17.8) = (16) (+29.6) + (+29.2) =

— 13th-note —



- EFEDORLESIEH 10-1 -

EFEEOELESIEE 10-1

WOFHEZ L7 X\,

(1) (+1)+(+8)= 9

(3) (43)+ (+4)= 7

(5) (+58) + (+29) = 87

(7) (+31)+ (+23) = 4

(9) (4+209) 4 (+620) = 829

(11) (+716) + (+819) = 1535

(13) (+0.9) + (+1.5) = 2.4

(15) (+9.9) + (+17.8) = 27.7

(2) (+9)+ (+6)= 15

4) (+1)+(+9) = 10

(6) (+7)+ (+50) = DT

(8) (+51) + (+58) = 109

(10) (+354) + (+110) = 464

(12) (+967) + (+857) = 1824

(14) (4+0.02) 4 (+0.14) = 0.16

(16) (+29.6) + (+29.2) = H58.8

— 13th-note —



- EFEDODRLESIEH 10-2 -
EEOELESIEH 10-2

ROFEZ LIg S0,

(1) (+6) + (+5) = (2) (+7) + (+8) =

(3) (+6) + (+7) = (4) (+5) + (+2) =

(5) (+53) + (+24) = (6) (+89) + (+97) =
(7) (+81) 4 (+14) = (8) (+95) + (+23) =
(9) (+739) + (+73) = (10) (4+946) + (+581) =
(11) (+479) + (+85) = (12) (+691) 4 (+5) =
(13) (+6.1) + (+7.3) = (14) (4+0.98) + (+0.36) =
(15) (+84.2) + (+69.4) = (16) (+79) + (+26) =

— 13th-note —



- EFEDODRLESIEH 10-2 -

EEOELESIEH 10-2

WOFHHRZ LiaEuy,

(1) (+6) +(+5) = 11 (2) (+7)+(+8) = 15

3) (+6)+(+7) = 13 (4) (45)+(+2)= 7

(5) (+53) + (+24)= 77 (6) (+89) + (+97) = 186

(7) (+81) + (+14) = 95 (8) (+95) + (+23)= 118

(9) (+739) 4+ (+73) = 812 (10) (+946) + (+581) = 1527
(11) (4+479) + (+85) = 964 (12) (+691) 4 (+5) = 696
(13) (+6.1) + (+7.3) = 13.4 (14) (+0.98) + (+0.36) = 1.34
(15) (4+84.2) 4+ (+69.4) = 153.6 (16) (+79) + (+26) = 105

— 13th-note —



- FEDRLESIEH 10-3 -
EFEEOELESIEZE 10-3

ROFEZ LIg S0,

(1) (+7) + (+7) = (2) (+8) + (+3) =

(3) (+9) + (+9) = (4) (+3) + (+9) =

(5) (+70) + (4+95) = (6) (+5) + (+57) =

(7) (+16) + (+51) = (8) (+79) + (+44) =
(9) (+60) + (+396) = (10) (+809) 4 (+231) =
(11) (+18) + (+525) = (12) (+661) + (+848) =
(13) (+1.2) + (+0.3) = (14) (+0.22) + (+0.07) =
(15) (+3.6) + (+97) = (16) (+33.8) + (+69.8) =

— 13th-note —



EFEEOELESIEZE 10-3

WOFHEZ L7 X\,

1) (+1++#+7) = 14

(3) (+9)+ (+9)= 18

(5) (+70) + (+95) = 165

(7) (+16) + (+51) = 67

(9) (4+60) + (+396) = 456

(11) (+18) + (+525) = 543

(13) (+1.2) + (+0.3) = 1.5

(15) (+3.6) + (+97) = 100.6

- FEDRLESIEH 10-3 -

2) (+8)+ (+3)= 11

4) (+3)+(+9) = 12

(6) (+5)+ (+57) = 62

(8) (+79) + (+44) = 123

(10) (+809) + (+231) = 1040

(12) (+661) + (+848) = 1509

(14) (+0.22) + (+0.07) = 0.29

(16) (+33.8) + (+69.8) = 103.6

— 13th-note —



- FEDRLESIEH 10-4 -
EFEOERLESIEZE 10-4

ROFEZ LIg S0,

(1) (+6) + (+3) = (2) (+4) + (+7) =

(3) (+3) + (+8) = (4) (+5) + (+5) =

(5) (+87) + (4+60) = (6) (+78) + (+15) =
(7) (+6) + (+10) = (8) (429) + (477) =
(9) (+28) 4 (+942) = (10) (+838) + (+281) =
(11) (+601) + (+890) = (12) (+557) 4 (+82) =
(13) (+3.7) + (+9.9) = (14) (4+0.37) + (+0.54) =
(15) (+79.2) + (+1.1) = (16) (+76.2) + (+45.5) =

— 13th-note —



- FEDRLESIEH 10-4 -

EFEOERLESIEZE 10-4

WOFHEZ L7 X\,

(1) (+6)+(+3)= 9

3) (+3)+(+8)= 11

(5) (+87) + (+60) = 147

(7) (+6) + (+10)= 16

(9) (+28) 4 (+942) = 970

(11) (+601) + (+890) = 1491

(13) (+3.7) + (+9.9)= 13.6

(15) (+79.2) + (+1.1) = 80.3

2) (+0)+(+7) = 11

(4) (+5)+ (+5)= 10

(6) (+78) + (+15) = 93

(8) (+29) + (+77) = 106

(10) (+838) + (+281)= 1119

(12) (+557) + (+82) = 639

(14) (+0.37) + (+0.54) = 0.91

(16) (+76.2) + (+45.5) = 121.7

— 13th-note —



- EFEDRLESIEHE 10-5 -
EFEEOELESIZH 10-5

ROFEZ LIg S0,

(1) (+4) + (+4) = (2) (+9) + (+3) =

(3) (+3) + (+5) = (4) (+6) + (+2) =

(5) (+59) + (+70) = (6) (4+21)+ (493) =
(7) (+51) 4 (+88) = (8) (+46) + (+1) =

(9) (+536) + (+675) = (10) (+637) 4 (+434) =
(11) (+785) 4+ (+10) = (12) (+967) + (+631) =
(13) (+9) + (+8.3) = (14) (4+0.71) + (+0.68) =
(15) (+85.7) + (+26.5) = (16) (+6.5) + (+26.8) =

— 13th-note —



- EFEDRLESIEHE 10-5 -

EFEEOELESIZH 10-5

WOFHHRZ LiaEuy,

(1) (+4) + (+4) = 8 (2) (+9) + (+3) = 12

(3) (+3)+ (+5) = 8 (4) (+6) +(+2)= 8

(5) (+59) + (+70) = 129 (6) (+21) + (+93)= 114

(7) (+51) + (+88) = 139 (8) (+46) + (+1) = 47

(9) (+536) + (+675) = 1211 (10) (+637) + (+434) = 1071
(11) (+785) + (+10) = 795 (12) (+967) + (+631) = 1598
(13) (+9) + (+8.3)= 17.3 (14) (+0.71) + (+0.68) = 1.39
(15) (+85.7) 4 (+26.5) = 112.2 (16) (+6.5) + (+26.8) = 33.3

— 13th-note —



